SHATEBOARD
LOCHERS

o
RS
.....................
eeee
X RS
X

®ee
®eo
®eo
oooooo
.....
................
..........
.......

\
\ \\ \ \
\ - | - : N | —
JEER /)R /I N\ I N\
P ) ) )

“SHATEBORRD “SHATEBORRD “SHATEBOARD “SHRTEBORRD “SHATEBORRD Fs"m““'llﬁ'ﬁ “SHATEBORRD “SHATEBORRD
LOCKERS] | LOCHERS LOCHERS LOCHERS LOCKERS LOCHERS LOCHERS LOCHERS

www.skateboardlockers.com



ASSEMBLY INSTRUCTIONS

Please note that the parts are located inside one locker bay inside the shipping box, so look inside carefully.

ASSEMBLY Parts Included Per Single-sided Unit of 8 lockers
2 Pre-assembled leg footings w/4 concrete Anchor bolts/washers/nuts
8 Bolts/nuts that connect locker unit to 2 footings (4 per footing)

ASSEMBLY Parts included Per Double-sided Unit of 16 Lockers

2 Pre-assembled leg footings w/4 concrete Anchor bolts/washers/nuts
4 Bolts/nuts that connect locker unit to 2 footings (2 per footing)

2 Connector Plates with 2 bolt pins and nuts (1 per footing)

TOOLS NEEDED:

Wrench or Socket wrench 7/16"

Wrench or Socket wrench 1/4”

Hammer Drill with 1/2" x 4" Masonry Bit

2 SAW horses when applicable or preferred

ALIGN

SKA-SS8Gen3 \ . / \
A A A

1/4" NUTS
& BOLTS

STEP 2

4

STEP 2

COMPLETE

[N

STEP 3

RAISE UNITS UP
OPEN LOCKERS 2 AND 7

[T ]

“SHTcaonn
LOCHERS

STEP 5

1

B

[TeT]

/ AE\T CONNECTOR PLATES

OLT LEGS/UNITS TOGETHER
THRU LOCKERS 2 AND 7
CONNECT WITH
BRACKET

[T T[]

“SHNTEUARD * SHATCBUARD ‘s
LIII:III:IS” anmﬁ

i
i

[T T]

* SHTEBORRD s
anmﬁ

&
8
&
8

www.skateboardlockers.com
Phone: 888-203-0001
Email: Bryan@skateboardlockers.com

STEP 5

COMPLETE




AVAILABLE UNITS AND CONFIGURATIONS

SKA-SS8Gen3 (Single-sided Standard 8 Skateboard/Scooter locker unit)
SKA-SLB8Gen3 (Single-sided Longboard 8 Skateboard/Scooter locker unit)

Also available in Double-sided Configuration (24"x 46"x27")

[e]

mE

S OO (e CRY

e E e

“SHRTEBOARD
I.lll:lll:nsﬁ

“SHATEBINRD “SHATEBDARD “SHRTEBDARD “SHTEBORRD “SHATEBDARD
LOCKERS LOCHERS LOCHERS LOCHERS LOCHERS

“SHATEBDARD
H LOCHERS

}

“SHATEBOARD

i

SKA-DS16Gen3 (Double-sided Standard 16 Skateboard/Scooter locker unit)

[ | |

]

“SHATEBDARD “SHATEBDRRD “SHTEBORRD
LOCHERS LOCHERS LOCHERS

“SHATEBDARD
I.II[:IIG:IISJ

e ]

e 1]

[l ]

e

:

“SHATEBUNRD
LOCKERS

SKA-SS4L.B4Gen3

“SHATEBDARD
LOCHERS

“SHATEBUNRD
LOCHERS

“SHATEBDARD
LOCHERS

(Single-sided Combo 4 Standard &

4 Longboard Skateboard/Scooter locker unit)

L

mE

.

e

.

e [k

g

o

g

“SHRTEBORRD
LOCHERS

!

“SHATEBDARD
LOCHERS

!

“SHATEBDARD “SHRTEBORRD “SHATEBUNRD
LOCHERS LOCHERS LOCKERS

!

“SHATEBDARD
LOCHERS

!

“SHATEBDARD
LOCHERS

www.skateboardlockers.com

Phone: 888-203-0001
Email: Bryan@skateboardlockers.com

SKA-SS6LB2Gen3

!

“SHATEBDRRD
I.III:IIEIISJ

L |

(Single-sided Combo 6 Standard &
2 Longboard Skateboard/Scooter locker unit)



ASSEMBLY AND INSTALL

CONNECTION INSTALL
CONNECT LOCKER #4 and #5 (By position) 1. Place on the concrete and the holes need to be marked
1. The bolt and nuts are connected to Locker #4 already to 2. Move the lockers bank aside
hold them in place temporarily, so nuts need to be 3. Drill holes with easy access.
unscrewed 4. Pound the Anchor bolts into holes (Use a sledge-hammer
2. Align lockers or slide hammer)
3. Keep bolts in place 5. Leave about 1/4"-1/2"of thread showing above the nut.
4. Tighten nuts and bolts together 6. Place lockers with Leg/feet back over the holes
5. Move unit to final location 7. Secure into place by bolting down anchors
6. Prepare to install INSIDE LOCKERS (2 AND 7)
e N CIVA
1/4" NUTS
& BOLTS

LINE UP UNIT FOR MARK HOLES
o PLACEMEN TO BE DRILLED
1 2 3
ALIGN AND
BOLT TOGETHER E

777777 MOVE UNITOUT ~ POUND ANCHORS
OF THE WAY INTO HOLES

4‘0 ﬁ“o ﬁ“o ﬁ“o ﬁ“o ﬁ“o T“o T“o T DRILL INTO CONCRETE

“SHATEBDARD “SHRTEBDARD “SHITEBONRD “SHNTEBDARD “SHRTEBDARD “SHTEBONRD “SHITEBDNRD “SHATEBDARD
LOCHERS LOCHERS LOCHERS LOCHERS LOCHERS LOCHERS LOCHERS LOCHERS

SET UNIT IN-PLACE BOLT INTO PLACE
LOCK INTO ANCHORS

[l JT T T 7]

“SHBTEBOARD “SHATEB0ARD “SHTEBIARY
LIIIZIWZIISJ LII(IIEISJ LIII:HEHSJ

For more detailed instructions go to:
www.skateboardlockers.com and

Select OUR PRODUCTS tab >>>

Download the PDF instructions for more details.

¥
Or contact us at 888.203.0001 SECURED

@ (50
@i




